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Q) Consider the following statements:
1. Equationsax+by+cz+d=0,a'x+by+c'z+d =0
represent a straight line.
2. Equation of the form

x—o_y-p_z-y
1y m_, n,
represent a straight line passing through the point (c, B, y)
gnd having direction ratio proportional to {kr;l_,,n. "
Which of the statements given above is/are correct ?
(@ 1only (b) 2only
(e) Bothland2 (d) Neither 1 nor 2
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Q Consider the following statements:
1. Equationsax+by+cz+d=0,a'x+by+c'z+d =0
represent a straight line.
2. Equation of the form

x—o_y-B_z-y
14 m n

represent a straight line passing through the point (c, B, y)
and having direction ratio proportional to /, m, n.

Which of the statements given above is/are correct ?

(@ 1only (b) 2only

(c) Bothland2 (d) Neither 1 nor 2

Ans: (c)
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Q)If the centre of the sphere
ax? +by> +cz? ~2x + 4y +2z-3=0is(1/2,~ 1, 1/2), what
is the value ofib 7 -
1 (b) -1
(c) 2 (d) -2

qlffdlfz‘g.f. Dy _f"?vav + JWT ¢ =0

(._q, ,v/,,,/g) N mvdl\nam (g w)’ﬁ*e,

oo = 05 NG (4,11
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Q)If the centre of the sphere
axZ+by?+cz2-2x+4y+2z-3=0is(1/2,-1,—1/2), what
1s the value of b ?

(@ 1 (b) —1
(c) 2 (d) -2

Ans: (c)
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Q) What is the length of the perpendicular from the origin to

the plane ax + by + +/2abz =17

(@) 1/(ab) (b) 1/(a+b)
(c) atb (d) ab

—] =D
Distanu sﬁ /)ﬁnf [9,0,0 'fwm M+£j‘* ab g —1

Jeb) 66 +\/;_M'/L S
\/W a+b
Vo> p -t s A
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Q) What is the length of the perpendicular from the origin to

the plane ax + by + +/2abz =17

(@) 1/(ab) (b) 1/(a+b)
(c) atb (d) ab

Ans: (b)
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Q) IfO, P are the points (0, 0, 0), (2, 3, —1) respectively, then
what 1s the equation to the plane through P at right angles

to OP ?
(a) 2x+3y+z=16 Vaeﬁ 2x+3y—z=14
(¢) 2x+3y+z=14 (d) 2x+3y-z=0

pane 1 /Wg;'% torosgh P, G0 I+ Shold ﬂuﬁ‘f// /ofomeif s frﬂ’)
ofﬁ'mﬁ/ (3,3,~1)

(1) A (c) &

(6) (4) «
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Q) IfO, P are the points (0, 0, 0), (2, 3, —1) respectively, then
what 1s the equation to the plane through P at right angles
to OP ?

(a) 2x+3y+z=16 (b) 2x+3y-z=14
(¢) 2x+3y+z=14 (d) 2x+3y-z=0

Ans: (b)
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Q) Under what condition do <

cosines of a line?

(@) k:%

© k=%

1

1 .
> E‘K represent direction

1
(b) k=-7

(d) kcan take any value



NDA 2 2024 - REVISION - MATHS — CLASS 6

Q) Under what condition do <

cosines of a line?

(@) k:%

© k=%

Ans: (c)

1

1 .
> E‘K represent direction

1
(b) k=-7

(d) kcan take any value
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Q)A plane which passes through the point (3, 2, 0) and the line

x—4 y-T7 z-4 i

1 5 4
@) x—y+tz=1 (b) x+y+z=5
(¢c) x+2y—z=1 (d) 2x—y+z=5
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Q)A plane which passes through the point (3, 2, 0) and the line
x—4 _ y—=1 _ z-4 .

1 5 4
@) x—y+tz=1 (b) x+y+z=5
() x+2y—z=1 (d) 2x—y+z=5

Ans: (a)
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Q)The d.r. of normal to the plane through (1, 0, 0), (0, 1, 0)
which makes an angle = /4 with plane x+y =3 are

@ 1,421 ® L1,42
© 1,1,2 @ 2,11
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Q)The d.r. of normal to the plane through (1, 0, 0), (0, 1, 0)
which makes an angle = /4 with plane x+y =3 are

@ 1,421 ® L1,42
© 1,1,2 @ 2,11

Ans: (b)
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Q)The shortest distance from the plane 12x+4y+3z =327
to the sphere x” + y? +z2 +4x -2y -6z =1551s

(@) 39 (b) 26 (c) 11% @ 13
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Q)The shortest distance from the plane 12x+4y+3z=327
to the sphere x” + y? +z2 +4x -2y -6z =1551s

(@) 39 (b) 26 (c) 11% @ 13

Ans: (d)
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Q)Thetwolinesx=ay+b,z=cy+dandx=a'y+b",z=c'y+d
will be perpendicular, if and only if
(@) aa +cc +1=0
(b) aa +bb +cc+1=0
(¢) aa +bb +cc'=0
(d) (a+a)(b+b)+(c+c)=0.
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EEEEE

Q)Thetwolinesx=ay+b,z=cy+dandx=a'y+b",z=c'y+d
will be perpendicular, if and only if
(@) aa +cc +1=0
(b) aa +bb +cc+1=0
(¢) aa +bb +cc'=0
(d) (a+a)(b+b)+(c+c)=0.

Ans: (a)
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Q)The lines X =2 _ y-3 _z-4
1 1 -k
coplanar 1f
(@) k=3or-2

() k=1lor-1

x—l y_4_

and . = 1

(b) k=0or-l1
(d k=0or-3

arc
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Q)The lines X =2 _ y-3 _z-4

1

coplanar 1f
(@) k=3or-2
() k=1lor-1

Ans: (d)

1

-k

x—l y_4_

and . = 1

(b) k=0or-l1
(d k=0or-3

arc
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Q)The radius of the circle in which the sphere
x?+ 9% +z2+2x-2y-4z-19=0 is cut by the plane
x+2y+2z+7=018

(@) 4 (b) 1 (c) 2 (d) 3
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Q)The radius of the circle in which the sphere
X2 +y* 422 42x—2y—4z-19=0 is cut by the plane
x+2y+2z+7=018
(@) 4 (b) 1 (c) 2 (d) 3

Ans: (d)



NDA 2 2024 - REVISION - MATHS — CLASS 6

Q)Distance between two parallel planes
2x+y+2z=8and4x+2y+4z+5=01s

9 5 7
(@) > (b) > (©) >

(d)

N | W
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Q)Distance between two parallel planes
2x+y+2z=8and4x+2y+4z+5=01s

B | W

9 5 7
(@) > (b) > (©) > (d)

Ans: (c)
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EXAMS

Q) The intersection of the spheres

> 2 2
X +y +z7+7x-2y—z=13 and

> 22
X“+y +z7 -3x+3y+4z=28

1s the same as the intersection of one of the sphere and the
plane

@) 2x—y—z=1 (by x-2y—z=1

(¢c) x—y-2z=1 (d) x—y—-z=I1

|
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EXAMS

Q) The intersection of the spheres

> 2
¥ +1y2+22+7x-2y—z=13 and

> 22
X“+y +z7 -3x+3y+4z=28

1s the same as the intersection of one of the sphere and the

plane
@) 2x—y—z=1 (by x-2y—z=1
(¢c) x—y—-2z=1 (d x—y-—z=1

Ans: (a)
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x+1 y-1
Q)Ifthe angel § between the line = ' 5

the plane 2x —y + \/X z+4=01s such that

sin @ = 3 then the value of A is

3
e by —
(a) (b) 5

‘ —4
— d
(¢) (d) 3

Z

-2
2

and
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EXAMS

x+1  y-1 z=2
Q) Ifthe angel 0 between the line | = - 5 = 5 and

the plane 2x -y + VA z+4=0is such that

sin @ = 3 then the value of A is

5 -3
() 3 (b) =
3 —4
= d —
(€) 2 (d) 3

Ans: (a)
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Q)The angle between the lines 2x = 3y = — z and
6X=—y=—471s
@ (b) 90°

(©) 45° d) 30°
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Q)The angle between the lines 2x = 3y = — z and
6X=—y=—471s
@ (b) 90°
(c) 45° (d) 30°

Ans: (b)
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Q)What 1s the equation of the sphere with unit radius having
centre at the origin ?

(a) x?>+y*+z2=0 (b) x*+y*?+z2=1
(€) x*+y*+z2=2 d) x*+y*+z2=3
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Q)What 1s the equation of the sphere with unit radius having
centre at the origin ?

(a) x?>+y*+z2=0 (b) x*+y*?+z2=1
(€) x*+y*+z2=2 d) x*+y*+z2=3

Ans: (b)
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Q)What 1s the sum of the squares of direction cosines of
x-axis ?

1
@ 0 ®) 3
© 1 @d) 3
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Q)What 1s the sum of the squares of direction cosines of
x-axis ?

1
@ 0 ®) 3
© 1 @d) 3

Ans: (c)

XAMS
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Q)What i1s the distance of the line 2x + y + 2z = 3 from the
origin ?
(@) 1 units (b) 1.5units
(¢) 2 units (d) 2.5units
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Q)What i1s the distance of the line 2x + y + 2z = 3 from the
origin ?
(@) 1 units (b) 1.5units
(c) 2 units (d) 2.5units

Ans: (a)
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X-=2 y+1 z+2

Q)What 1s the angle between the lines " > "
4 x-1 2y+3 z+5 )
and — 3 5y
7 n
@ - ® 3

(©) (d) None of the above

o=
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X-=2 y+1 z+2

Q)What 1s the angle between the lines " > "
4 x-1 2y+3 z+5 )
and —— =" = "
7 n
@ - ® 3
I
(©) < (d) None of the above

Ans: (a)
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PERMUTATIONS AND COMBINATIONS
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9) In how many ways can the letters of the word
<~ CORPORATION be arranged so that vowels always occupy
even places ?

Aa) Y120 (b) 2700 ;/m
(c) 720 (d) 7200
0 0 A C /Q P /Q 7 /\/)

M o 5 |

el
o

DA ﬁxsxqﬁg)

= 30x30 X/
= Fd00
\ N~
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Q) In how many ways can the letters of the word
CORPORATION be arranged so that vowels always occupy
even places ?

(a) 120 (b) 2700
(c) 720 (d) 7200

Ans: (d)
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Q) If all permutations of the letters of the word 'LAGAN' are

arranged as in dictionary, then what is therank of ' NAAGL'?
(@) 48th word 0 49th word
(¢) 50th word (d) 51stword

Gin— 4] =~ 2

[
@apin — A

gy Y43 +13 = 1§ Wwrds

QMo = 4 .
3

@A’M’L NS gy wmf
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Q) If all permutations of the letters of the word 'LAGAN' are

arranged as in dictionary, then what is therank of ' NAAGL'?
(@) 48th word (b) 49th word
(¢) 50th word (d) 5lstword

Ans: (b)



NDA 2 2024 - REVISION - MATHS — CLASS 6

(n+2)1+(n+1) (n-1)!
(n+1) (n-1)!

@ 1 ) + [717“02)(7))

(b) Always an odd integer

(c) A perfect square
(d) None of the above =N+ d» 'f_/

Q) What is

equal to ?
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(n+2)!+(n+1) (n—1)!

Q) What is (n+1) (n-1)!

equal to ?

@ 1
(b) Always an odd integer
(¢) A perfect square

(d) None of the above

Ans: (c)
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Q) A group consists of 5 men and 5 women. If the number of
different five-person committees containing k men and
(5-k) women is 100, what is the value ofk ?

(a) 2 only (b) 3only ) / “2 oo
() 2o0r3 d 4 [sr-k)/ k/)
5 M W Y o
WC > n/
°C, XSCM S (Y
§ 6014 W
N S S T o ,
57 - -
(5- k)| k[ K/ [F»k)/ C/< > 10 CT bcn»r
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Q) A group consists of 5 men and 5 women. If the number of
different five-person committees containing k men and
(5-k) women 1s 100, what 1s the value ofk ?

(a) 2only (b) 3only
(c) 2or3 (d) 4

Ans: (c)
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Q)If7 points out of 12 are in the same straight line, then what
1s the number of triangles formed ?

@) b) 175 5

3
() 185 (d) 201 AN MT Yy X5
R i
- L = fo + 90 #(41X5)
A A PG A = o [0S ;/
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Q)If7 points out of 12 are in the same straight line, then what
1s the number of triangles formed ?

(a) 4 (b) 175
© 185 (d) 201

Ans: (c)
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Q) How many different words can be formed by jumbling the
letters 1n the word MISSISSIPPI 1n which no two S are
adjacent?

(a) 8. 6C4. 7C4 (b) 6.7. 8C4
() 6.8.7C,. (d) 7.°C,.3C,
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Q) How many different words can be formed by jumbling the
letters 1n the word MISSISSIPPI 1n which no two S are
adjacent?

@ 8.5C,.7C, (b) 6.7.8C,
©) 6.8.7C,. d) 7.6C,.3¢C,

Ans: (d)
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Q)What 1s the total number of combination of #
different things taken 1, 2, 3, ...., n at a time?

(El) 2?’!+1 (‘b) 22?1""1
¢y 27n-1 (d) 2" -1
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Q)What 1s the total number of combination of #
different things taken 1, 2, 3, ...., n at a time?

(ﬂ) 2?’!+1 (‘b) 22?1""1
¢y 27n-1 (d) 2" -1

Ans: (d)
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Q)What 1s the value of »n, if P(15, n — 1) : P(16, n — 2)
=3:47

(@) 10 ®) 12
(c) 14 @ 15
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Q)What 1s the value of »n, if P(15, n — 1) : P(16, n — 2)
=3:47

(@) 10 ®) 12
(c) 14 @ 15

Ans: (c)
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Q)If a, = n(n!), then what is
a, + a, + a, + ...+ a5 eéqual to?
(@) 10! -1 (b) 111+ 1
() 10! + 1 (d) 111 -1
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Q)If a, = n(n!), then what is
a, + a, + a, + ...+ a5 eéqual to?

(@) 10! -1 (b) 11! + 1
(c) 10! + 1 (d) 111 -1

Ans: (d)
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Q)How many distinct matrices
exist with all four entries taken from
{1, 27
(a) 16 (b) 24
(c) 32 (d) 48
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Q)How many distinct matrices
exist with all four entries taken from

fL, 27
(a) 16 (b) 24
(c) 32 (d) 48

Ans: (a)
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Q) What 1s the number of three-digit odd numbers formed by
using the digits 1,2, 3, 4, 5, 6 if repetition of digits 1s allowed?

(@) & (b) 108
() 120 (d) 216
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Q) What 1s the number of three-digit odd numbers formed by
using the digits 1,2, 3, 4, 5, 6 if repetition of digits 1s allowed?

(@) & (b) 108
() 120 (d) 216

Ans: (b)
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Directions
Consider the letters of the word 'Krishna’.
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Q) How many words can be formed the vowels are not
separated?

(a) 1250 (b) 550
(c) 1440 (d) None of these
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Q) How many words can be formed the vowels are not

separated?
(a) 1250 (b) 550
(c) 1440 (d) None of these

Ans: (c)
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Q)How many words can be formed the vowels may
occupy only odd places?

(a) 100 (b) 720
(c) 700 (d) 4
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Q)How many words can be formed the vowels may
occupy only odd places?

(a) 100 (b) 720
(c) 700 (d) 4

Ans: (b)
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Q) How many words can be formed begin with s and end
ink?
(a) 150 (b) 70
(c) 200 (d) 120
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Q) How many words can be formed begin with s and end

mnk?
(a) 150 (b) 70
(c) 200 (d) 120

Ans: (d)



NDA 2 2024 - REVISION - MATHS — CLASS 6

Q)What 1s the number of different messages that can be
represented by three 0’s and two 1°s?

(@ 10 (b) 9
() 8 @ 7
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Q)What 1s the number of different messages that can be
represented by three 0’s and two 1°s?

(@ 10 (b) 9
() 8 @ 7

Ans: (a)
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Q)From 7 men and 4 women a committee of 6 1s to be formed
such that the committee contains at least two women. What
is the nubmer of ways to do this?

(a) 210 (b) 371
(c) 462 (d) 5544



NDA 2 2024 - REVISION - MATHS — CLASS 6

Q)From 7 men and 4 women a committee of 6 1s to be formed
such that the committee contains at least two women. What
is the nubmer of ways to do this?

@ 210 (b) 371
(c) 462 (d) 5544

Ans: (b)
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Q) A polygon has 44 diagonals. The number of 1ts sides 1s

(@) 11 (b) 10
(c) 8 (d) 7



NDA 2 2024 - REVISION - MATHS — CLASS 6

Q) A polygon has 44 diagonals. The number of 1ts sides 1s

(@) 11 (b) 10
(c) 8 (d) 7

Ans: (a)
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Q)If the letters of the word SACHIN are arranged 1n all possible
ways and these words are written out as in dictionary, then
the word SACHIN appears at serial number

(a) o0l (b) 600 (¢c) 003 (d) 602
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Q)If the letters of the word SACHIN are arranged 1n all possible
ways and these words are written out as in dictionary, then
the word SACHIN appears at serial number

(a) o0l (b) 600 (¢c) 003 (d) 602

Ans: (a)
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Q)A man has 7 friends. In how many ways he can invite
one or more of them for a tea party?
(a) 128 (b) 256
(c) 127 (d) 130
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Q)A man has 7 friends. In how many ways he can invite
one or more of them for a tea party?
(a) 128 (b) 256
(c)y 127 (d) 130

Ans: (c)
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REVISION

TOPICS : e Binomial Theorem
e Sequences and Series

(13/08/24)
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